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symmetry, and the domal_l aﬂd "an
a) y=-2x+ 5}7+6 by y=

. . . ~ i /E:;
2. For each of the following, determine the coordinates of the vertex and whether the graph
has a maximum or minimum value.

b) y =050+ 112+ 8

)

Sketch each of the following functions. Label the vertex a‘id axis of symmetry.
a) y——4(x+ 1)2 : b) y*z(x+2)2 3
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rabolic arch with a height of 5 m and a width at the
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3.2 Investigating Quadratic Functions in Standard Form, pages 120-132
5. State the x-intercepts and y-intercept for each function.
b) y=2x*+10x + 9

a) y=x*+2x-38
[ Ly
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6. Determine the x-coordinate of the vertex of each of the quadratic functions.

ay y=2x2+6x-5 b) y=-3x2-5x+9
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7. State the equation of the axis of symmetry and the direction of opening for each quadratic

function.
a) y=-05x>-5x+ 2 b) y=6x2-8x—-11
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8. “Write sach Tunction in vertex form. State the domain and range.

=

a) y=x>+ 6x+ 15 ) By y = —3x*—-36x—100

©

The profit, p, earned from the sale of a particular product by a business is given by i
p(d) = -0.254% + 5d + 80, where d is the number of days the produm has been for sale.

nj} Determine the veltex of Lhe profit function.

b) Explain what the vertex means in the con Lext of this problem.

10. A student club is planning a fundraising car wash. Last year they charged $10 per vehicle
and washed 120 vehicles. They would like to earn more money this year. For every 31
increase in price, they know they will wash 5 fewer vehicles.

a) Write a quadratic function to model this situation using v as the number of vehicles and
r as the revenue.

) Determine the Lest price to charge fo1 the chr W@Sﬁ he revenue expected at that

*, v

rice. S
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a) From what height is the ball kicked?
Y { i . g
o ioun ch LC;LW;&
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b) What is the maximum height of the ball? When does it occur?

6 oot {j’“{ YL = \ U= ( U~ E:; A \>

¢) How long is the ball in the air?

v;) NV CCW’\O{-& C Z,Mé - L@W

@) What are the domain and range for this situatioh?

D oLt L2 ([ en dg at 2 swn L




